Wk 2 7AEHEEALEE SRR Y U o 2 R AR

Y2 83H56H (1) ~6H (H)

& Mgk — 15 R oL
[BET2 AF—LHE] 6Gx2 A 12GF—21 [T 2 NF—L8] 6Gx2 A 12GF—X1
NEAE | F— 24 pEi YAV A =yl = G | F— 24 ®FA4 2 a7 | s
FAM|EWLT — 1= E-2)0 @2, 719 10 | |FE 16| GIC [EAR =18k —1fif 2,549 10
Fopr| @\HIL (UK FRolingE | 2,656 7 Fofr] EIA |IUAR EE|LHEWEAT 2,530 7
BINL ANS | mE=—EE 1A 2,650 5 FE3N| A)D |[FAFEL|FR B[ 2,448] 5
wHAafr| w)IG |[Bn iR BERE 2,638 3 Fapr| wBHD [EA ATt KT 2,407 3
BOSNM|ELB— 1|46l || A (2,635 2 EH5N| wBIFA R KA bvoF|2,340| 2
ok —1[ms malan g2 64| 1| Bk wmrc [AmEfor|win mmf2 332] 1
[BT4 NF—L1H)] 6Gxa A 24GCFr—H21 [T 4 NF—L18] 6Gxa4 A 24G F—HL
AL | F— 24 B’FKA 2a7 | B ELL | F-— 24 B’FERA 2 aT | 158
M A Tz NG LSRR T
FARARESI 5,141 10 | | 147| =B 4,628 10
AL Sl T Te—yy R B P A
W ZaL| Il FTARTES FF HF
wofr| mIA - 5,087 7 | |®wonz| w5 4,589 7
e WE % TE Wb At P T e PP T
wapr| @R L 5,069| 5 | [#3nr| EmihA W& EX|IEEA T 4,534| 5
\ =] N )
" LA A0 mEE ] HIHERT BA BE
HH EF— |81 oz ARSI Ee
war| K 5, 049 wanr| wmEB |- 4, 431
Aalt) ANK s R A S B T e TE S e 3 3
e | R 2 wR K eet
w5l ZmUB | 5,037 2 | |® 56| mitaA — 4,368 2
A WL E#F B AL B ek R T
W iz GEE AR B ENINET
wefr| #)D - — 5,021 1 | [®menz| mina B 4,347 1
B AL AL A6 T M| R
[5G E e k] 6 — b AL [ 1B ATk ] 64— h—& L
A | A e s pEi = YAV 2aT|5A JIEAL | BT R B®EKA Aa7 | A
F1hL| BHER KOs —BR 1,439 | 10 | | 147] f&HR it KT 1,232 10
Hwmofr| IR wH B 1,422 7 Fonr| A& R IR L,224| 7
R A gl = B A 1,38 | 5 F3NL| BIE A B3 1,221 5
Ao wHLR B 1,365 3 BANL| E IR oI - 1,205 3
FHAL|  ELR FL EHE 1,310 2 BoNL| G Bk L179| 2
Hehr| Al *® 75 1k 1,290 | 1 6L LR I A1 1,178 | 1
[BF A= e g ) —X] (LT AF—L e g —X]
BT g R B®ERKA Aa7T PIT g 1 R B®EKA Aa7T
& L B fRE 300
NAHF — A i NAF — A AR Wk i 258
7)1 L R 300
g v — x| AR kS 796 g v — | e YAk sET 711
[ BT H&RE] [ 1K E]
NEhr | B4 |2 AF—sik| a AF—ni| EARE || | ER | B4 | 2 ar—sik] a AF— k| AR A | B A
FARA BTN 8 21 13 42 | 1 ) 15 8 9 32
o N7 | KE kIR 7 5 10 20 | 1 2 pr| &L 7 15 9 31
ERR A KAL) 13 2 5 20 | | 3 pr| ot 6 5 10 21




